Essays
Subsidies Essay
	Theory
	· What is a subsidy? It is a sum of money given by the government to the producers or consumers of a good or service.
· If given to a producer this lowers their cost of production, therefore supply will rise.
· If given to a consumer this lowers the price of good leading to a rise in demand.
· They are given to encourage consumption of merit goods, goods which are under consumed/produced, positive externalities aren’t taken into account causing allocative inefficiency- consumer satisfaction not maximised.
· They increase consumption eliminating the positive externality and help the market operate at a socially optimum level.
·  Graph:
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	Disadvantages
	· Setting the subsidy at the right point. It should be set at the value of the external benefit caused by under consumption/production. If too small the good will still be under consumed meaning market failure continues. If too big than the benefit gained from the increased consumption will be lower than the subsidy it meaning there is a misallocation of resources leading to allocative efficiency and market failure.
· As there is imperfect information it’s difficult to correct market failure.
· Opportunity cost caused by scarcity- money could be used on other government schemes such as trying to improve health care & education.
· Will the full value of the subsidy be passed onto consumers as producers may want to raise profit margins? If not they’re not consumers aren’t seeing the full benefit leading to allocative inefficiency and leaving the good still under consumed. 
· May encourage x-inefficiency if firms are too reliant on them, they will not try to minimise costs leading to inefficiency.
· PED: If price elasticity of demand is inelastic than a large subsidy will be needed in order to correct market failure, a large rise in price will have a much smaller effect in quantity demanded.
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	Advantages
	· It lowers inflation as prices fall and allows consumers to afford more goods; this could lead to economic growth as consumers may be prepared to spend more. Consumers are better off meaning the economy is closer to allocative efficiency.
· Can be very effective if well planned and thought through.
· Can be used along other programmes such as advertisement.



Taxation
	Theory
	· Indirect tax: a tax levied on goods and services e.g. VAT.
· Direct tax: Taxes on income and firms which can’t be avoided.
· Indirect tax is often used to increase government revenue on goods with an inelastic PED.
· It can also be put on demerit goods such as alcohol in order to lower consumption to get rid of the negative externalities caused from over consumption of the good in question.
· The retailer officially pays the tax, although it is likely that price is raised to reflect the tax, therefore the consumer ends up paying.
· In theory it leads to increased allocative efficiency level of output and corrects for misallocation of resources.
· Graph:
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	Disadvantages
	· Depends on PED. If PED is inelastic tax would have to increase a lot in order to deter consumption.
· Difficult to know how high to set the tax as it’s hard to measure externalities. If too low than externalities will still exist and therefore so will market failure.
· Tax makes UK producers less internationally competitive and lead to inflation within the economy which in turn can affect economic growth and even unemployment
· For a tax to be properly effective it would have to be applied internationally as firms may relocate to avoid tax.
· Product may be available on the black market meaning that over consumption may still occur.
· Tax could mean that low income families can no longer afford certain products, which in turn may lower their standard of life while those with high income can still afford the goods.
· If firms cost rise due to tax than this in turn could lead to higher unemployment as firms seek to lower costs.
· If information failure still occurs then externalities may continue.

	Advantages
	· Raise government revenue which in turn can be used to fund merit goods of improve information provision.
· If it equals external cost it forces the polluter to internalise the negative externality. (tax should result in private costs=social costs)
· Reduces overconsumption by forcing consumers to pay the true price of the good.
· 














Pollution permits
	Theory
	· A permit allows factory owners to admit a certain amount of pollution over a period of time.
· If permits go unused than they may be sold to others who require them.
· Emission of green house gases is a negative externality as it has a negative impact on the third party in the form of global warming and rising sea levels. Those prone to flooding may be affected and may suffer destruction of property.
· Permits give incentives to firms to lower emissions as they can gain from selling of permits.
· They combine the benefits of market based solution with those of regulation.
· Firms which produce more emissions then permitted to than they would be prosecuted.
· Graph: How the price of permits is determined. Supply stays constant, always same amount of permits, therefore price is only altered by demand if D rises then so will prices.
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	Disadvantages
	· Hard to set level of pollution at the right level in order to correct market failure.
· Hard to know how to distribute permits fairly. How many does each firm get? Do you give more to larger firms?
· If these points are done incorrectly than it will result in market failure.
· If pollution limit is too high than the negative externality will continue. If the limit is too low than this may lead to producers ignoring the laws and lead to increased pollution, leading to government failure.
· Sufficient measures are needed to police it and enforce it and ensure firms have sufficient permits to cover pollution.
· What should the penalty be if firms emit more than permitted to .
· Opportunity cost.
· May be implications to raising prices of permits if supply of permits in the future is reduced.
· Permits will only be effective if introduced on a global basis as firms may move to countries where they don’t have the risk of paying if they pollute large amounts. The negative externality will still be occurring from the actions of other countries.
· If price of permits is too low than it will be cheaper for producers to simply buy more permits than investing in new technology.
· Price of setting up the scheme would be expensive.
· The permits could raise cost of production leading to higher prices being passed onto consumers causing inflation, if the price can be passed onto consumers than permits will be less effective.
· Profitable firms will find it easier to buy additional permits and therefore those firms will have less incentive to be efficient.

	Advantages
	· It helps to collectively cut emissions, helping to reduce negative externalities
· Polluter pays as those who produce the most emissions will have to buy more permits.
· Low polluting firms have the competitive advantage.
· Benefits those actively trying to reduce emissions.




Regulation
	Theory
	· Form of correcting market failure without using the price mechanism, by setting law to attempt to influence individual behaviour.
· Includes either banning or limiting something.
· If law is broken than a penalty would be given, most likely in the form of a fine this fine/ penalty should be greater than the benefit of lawbreaking.
· More effective than voluntary policy as it has the law behind it.
· Regulations over ride the workings of the market mechanism.
· Individuals must modify their actions in order to comply with the law.
· Demand curve shits less when regulation is put in place addressing over consumption.
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	Disadvantages
	· Effectiveness depends on penalty. If too small individuals will carry on and break the law and will have little effect on the over consumption taking place on demerit goods leading to market failure still existing.
· Policing is required; this brings about a opportunity cost.
· Could lead to increased activity in the black market which means that the negative externalities would still exist. Not a successful re-allocation of resources.
· May not be as useful as a tax as taxes lead to government revenue which could be used to encourage the consumption of merit goods.
· Heavy handed approach.
· Cost of monitoring and enforcing the law may mean the cost exceeds the possible benefits.
· May be difficulty setting regulation, should be placed where social cost equals private cost.
· A flat rate fine would be less effective as firms would be fined the same amount no matter how bad their lawbreaking of the regulation was.
· Time lag before regulation is passed.
· Depends on how willing authorities are to enforce the law.

	Advantages
	· Controls are used to reduce market failure if left to the free market undesirable outcomes would occur
· Simple and quick to introduce.
· Relatively easy to introduce.
· If a limit is put on pollution than this will encourage firms to find new types of efficient low emission technology which can help to increase productivity leading to economic growth.


  











Information provision
	Theory
	· Information provision helps to correct imperfect information where information is either inaccurate or incomplete helping consumers to make an informed decision and therefore lowering externalities.
· Shows the true value of the cost and not just the private costs which consumers mainly take into account.
· It can be done though improved labelling of products, Health warnings, and advertisement to create greater understanding and awareness of certain issues, better education over certain issues such as drugs or healthy eating.
· Negative externality:
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· Positive externality:
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	Disadvantages
	· Opportunity cost.
· Depends of PED.
· Is likely to be less effective with habitual goods such as tobacco.
· Knowing how much information provision is needed if not enough is given than consumers still won’t know the real costs and benefits of the good leading to market failure continuing.


	Advantages
	· Can be accompanied by other actions such as the enforcement of regulation.



